APRIL 2021 60557/ CYAGA

Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer any TEN questions.

1. Define ‘Cost Accounting’.
‘GLssellane sams@Ll uSellwd’ eraruans cuanum.

2. What is Tender?
@UUBSLUILIETET cTraTmmed cTeme ?

3. Find the economic order quantity when the annual consumption
1s 6,000 units. Ordering cost is Rs. 120 per order. Price per unit
1s Rs. 20 and carrying cost is 20%.
Qe Lwerum(h 6000 HOGEHET, JMETUILD DL SHD eI
@aTEH@ (H120. @f Aedlar allane eF.20 WwHMID 6&TeTiq (HS560
SILESHD 20% erafle) fGsar et SjeTe] S (h g &5s.

4.  What is Re-ordering level?

OO DENET LD GTETMTE) 6T6ITa ?

5.  What do you mean by Labour Turnover?
Qsmeomert &pHd LD 2 g SHSSH W) ?

6. A company employs workers on time wages cum piece wages

basis. Workers get payment as per the method more beneficial
for them. During a week of 44 hours, production was Gopu —
100 units, Somu — 140 units. Time rate per hour Rs. 2.5. Piece
rate per unit Re. 1. Calculate earnings of each worker.
@ BHowbd Cwrbd wHmb 2 Husd Sgliueuleorear  Fnelser
wpapuiler Csmporarisamer uamilunrsgdng. Ogrflorerisar
SEISEHGE Hsluwer 2 erer wpevpuiledy Faadl Qumdlemmert. 44
wenfl Cryb Gt @ eurpsdle Casmy 100 @GseEmhd, Camup
140 S@sEpbd 2 Husd Ceugeart. wafl Cpr el @ waflss,
CrrsdnE h.2.5. 2Husd dnedl @f db@ ep.1. geiben
Qameomeriler FOUMSWLD Sanrés (hs.

7. What do you mean by Machine Hour Rate?
@Qupdly wanfl Cpr lflsbd LDHL 2 10g SHSSH Wrg) ?

8.  Give the meaning of secondary distribution of overheads.

Cupgweysaiien @rarLmbd Hlenew LliTe| erarLg e CLTHET S(Hs.



10.

11.

12.

Following details are furnished by a manufacturer of a product.
Direct Materials Rs. 75,000

Machine hours Rs. 20,000

Direct wages Rs. 30,000

Labour hours Rs. 50,000

Works overheads Rs. 15,000

Calculate : Machine Hour Rate, Labour Hour Rate and Prime
cost rate of overheads.

@m CQumrmeer 2 HuSFH CFuwbd eEpeum alsEGh eSleuyhiser
“ereu(mLomm)

Crrgl1 Qummerser en. 75,000

@Qupdly wanfl Crrriser en. 20,000

Cririg gaallser em. 30,000

uanflum_ser wewfl Cryhiger er. 50,000

uentl Cuopbsey em. 15,000

Cup@eweler Bz Quidy wenll Coy eldflgbd, uamiur' sdar Cor
NS wHMID OFT_&585 &5 Ndsh saumsd(Hs.

What is abnormal loss?

GTETUTTT BLL LD eTETmmed rebren ?

What is process costing?

Qewipenn L ssallereuiiuich eTemmmed ereme ?

A transport company operates 4 buses on a route 100 kms long.
Each bus makes three round trips per day on all 30 days in a
month. On an average 20% of the vehicles are in garage for
repairs and maintenance. Ascertain the total distance covered by
the buses in one month period.

@@ Curs@eursg Hmwbd, 100 HCamblLisear Cgramae| o @rar
@M uPssL e 4  Cumbgsmer QuEGIDE. eelbein
Cuppgid  wrssdHer 30  BILESET darsSlabd 3 &Hm
vwenflsdlermg. LpgurTibh@n urmbilibb@h, grreflunrs 20%
sarfiglger Lanflamaruied @m&E@Gh. @@ LIE sTosdHd CumbgiseT
LS Corsgs QgTaane] sarsdl(hs.
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13.

14.

PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

From the following particular, prepare a cost sheet showing
selling price per unit.

Raw materials Rs. 9,100,

Labour and other direct expenses Rs. 4,000,

Factory expenses 80% of the labour and other direct expenses.
Office overheads 10% of works cost.

Selling and distribution expenses Rs. 2 per unit sold.

Units produced and sold 10,000

Percentage of profit 20% on selling price.

Gemeupd ellugmiser Gamarh @f Sedler alpuamer allened ST (Hb
9L &5 alened L igwd swmflés

epLIGum@pLser em. 9,100,

<L gadl LHMID Q&7 Crrgs Gewe|ser ep. 4,000,

QamAhsrene CFawe se < gnell HmiIb @57 Crrigd Ceweysatie 80%
Seuas CohHbswe Lamil <Lsss55d 10%

clbpueer whmib NFCLTs e ser aldm @ odlHE m. 2

2 HugS wHmIb elhuemer e @ser 10,000

@eru allssr® ellhuamer ellanaudead 20%.

From the following information calculate Maximum, Minimum
and average stock levels.

Normal consumption per day 500 units,

Re-order period 10 to 16 days

Minimum consumption per day 200 units

Reorder quantity 3,000 units

Maximum consumption per day 800 units.

Gemeu(pLd SHeUDEET QaTeam(h ASsLl s, GmphsLLl g wHnib syrafl
FT&@ L LSS mar saumdsd(Hs

e prafler syrafl Lwerur® 500 @ @&saET,
n penar st — 10 wpged 16 Brlser

e prafler oHasul s uwerumh 200 e @ser
wnipemen ere| 3,000 o @ser

e prafler oHasul s uwerunh 800 e @ser,
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15.

16.

Calculate the earnings of worker A and B under Taylor’s
differential piece rate system.

Standard Time allowed — 10 units per hour

Normal time rate per hour — Rs. 100

Differential to be applied 80% a piece rate when below standard
120% a piece rate at or above standard.

In a day of 8 hours ‘A’ produced 75 units and ‘B’ produced
100 units.

QL wievfler CaumpuBssiur L 2 HLGS) Sz papudled
Qzmflererraer ¢ LHMID 19 SHCuThen eupLTEaTD SarTés ([Hs%.
Si@iwdssiiul L Blypsy Crrb — e weantl CrrsdnE 10 o @sar
e wafl Crr ergmrem Cry elldlsn — ep. 100
vweru(hss Ceuamgw Caumu L eldlgd —
@@Phs STEEDG 2-Huss ldssdle 80%
Biremniss | 2idls s168D@ 2 pusdl ldgsdlad 120%
8 wenfl Cry ep Breflen 2 HLFH A — 75 ev@Gser,

B - 100 sje@sar.
K Ltd has three production department A, B and C and two

service departments ‘D’ and °‘E’. Apportion the following
expenses in suitable basis.

General Lighting Rs. 600, Power Rs. 1,500, and Sundries
Rs. 10,000.

Further details for A B C D E
Light Points 10 15 20 10 5
Direct wages Rs. 3,000 2,000 3,000 1,500 500
HP of machine 60 30 50 10 -

Value of Machine Rs. 60,000 80,000 1,00,000 5,000 5,000
Cs el -eb ¢, 9 wHmbd & eremy eperm 2 HUSFH FHOMSEEHLD
D wpmid E eremnm @rerh Cseneus gieppud 2 emenar. emeu(mid
Qeovejsamer CUTmSSLTET gL ule LSlTHgetss.

Qurg eefluigser ep. 600, saddper em. 1,500 wHmID @57
Geaeyser em. 10,000.

S (HBD GilLIThIGET A B C D E
gaflls yeraflaar 10 15 20 10 5
Cpiyiqé gaclaer e, 3,000 2,000 3,000 1,500 500
Quipdly Gdersdper 60 30 50 10 -
@uibSy I 1. 60,000 80,000 1,00,000 5,000 5,000
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A transport company which keeps a sheet of lorries shows the
following information.

Kilometers run in April 30,000
Wages for April Rs. 2,000
Petrol oil etc for April Rs. 4,000
Original cost of vehicle Rs. 1,00,000
Repairs in April Rs. 6,000
Garage Rent for April Rs. 1,000
Insurance for the year Rs. 6,000

Depreciation to be allowed at 25% per annum on original cost.

Calculate cost per running kilometre.

em orflsaflar Qgr@d Csrar, Curs@eursg Hlmiwbd YereumLd
clugriseer sm_(HE gl

grreded eplqut HCemBL L irgar 30,000
JLITAO G Fn6l &6 em. 2,000
gureled QuLCrmed <ulleh euanEaEeT em. 4,000

cursarmsaflear 2 arend 2L gsellene ep. 1,00,000

LITelled Li(LpgILImiTLiLy em. 6,000
gLITedler Lianfloenast eumL_ena em. 1,000
R QRIS ep. 6,000

o ey L Gsellane g ey hE 25% Csuinmeand awdss

CeuarHd g HCmBL LT @heugharar oL sselene sarss[Hs.

What are types of Idle Time?

vwerhm Crrsdlen cuamsser wreme. ?

Write a note on perpetual Inventory system.

@aLeilLrg sr&@ (pan UMl e GOILIL eumys.
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PART C — (3 x 10 = 30 marks)

Answer any THREE questions.

20. From the following details prepare cost sheet :
Raw materials consumed Rs. 30,000,
Direct wages Rs. 60,000

Works overhead in charged at 40% of works cost and office
overhead is taken at 20% of total cost.

Sales 180 units @ 1,200 each.

Gemeumeuar Garambh L ssellena UL iquie) SUmi&s :
epelIQurpLasd LweruBsSwg em. 30,000,

Cririg amedlaer em. 60,000

ueanfl GohHbswe] Liant oL sassle 40% erar er(psliL(OEng

Cogib  <gieuws GCohHbswe] Cwbrss L sssdle 20% erer
T HSEHSESTETETLILIL L g

cpuener 180 Sjev@ser seom ep. 1,200.
21. From the following prepare stores ledger under LIFO method
Receipts Issues
2015 dJan 1 300 units at Rs. 10 per unit | 2015 Jan 15 250 units
10 200 units at Rs. 12 per unit 20 300 units
18 200 units at Rs. 14 per unit 31 100 units

25 100 units at Rs. 16 per unit

Qemeumeuar  Garamh  OlxCur  wpevpuied  SHLmgn  CuGrh
swuflés :
QumIsOSHET SlefgsDaHaT
2015 gar 1 300 si@@ser g <@ 5.10 aigb | 2015 smar 15 250 e @sdr
10 200 @s6r e i@ .12 aigb 20 300 sjov@ser
18 200 wiw@s6r e i@ . 14 aigb 31 100 sje@ser

25 100 siev@s6m @ i@ . 16 aigbd
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22.

23.

24.

In order to finish a task, standard time is 15 hours. Ram took
16 hours to finish the job while Sam took 12 hours. Time rate is
Rs. 3 per hour. Calculate earnings of Ram and Sam under
Halsey and Rowan Plans.

om Camomwu wgss Hiauidss Corb 15  werflser.
@eCaumaerw (pigds D Thssg 16 barflser <parmd &Fmb
THE3g 12 wenflser. wanfl Cry MHsh m warllsE op.3. anroCs
opmd Crreuer HiLmgeller Sp gmbd wHmD Frd < HCuimder
QU(RLOTETLD STl (hs.

Explain the various classifications of overheads.

Cuopgweysefier LOCaum LTGUTHSG®ET 6Nl6TdEs.

J Company’s product passes through two processes A and B and
then to finished stock. Normal loss is estimated as

Process A — 5% of input and Process B — 10% of input. The scarp
value of loss in process A is Rs. 8 per 100 units and in Process B
is Rs. 10 per 100 units.

Particulars of expenses Process A (Rs.) Process B (Rs.)

Materials 3,000 1,500
Wages 3,500 2,000
Factory expenses 1,000 1,000

5,000 units were introduced into Process A at Rs. 2,500. The
outputs were Process A 4,700 units and Process B 4,300 units.
Prepare process accounts.

b

Cey s@uaiuler Qum@Lrger ‘e wHmibd 9 ererm @@ Qaiipenm
G apiyeydm sT&dHE@E aumdng. adiCprédu snsmyent HLL LD
Qeviwpern o - odmaiphseailes 5% wHmD Qeligpern G -
o dret(safled 10%. @QbBLLgdHar erdodliy Qeiipen e — 100
SjdH@ ep.8 wHmID Lelipean 4 — 100 JedlDHE, 510

Cdeewajsar eflurhd Qewipery o (e5.) Qewipern 9 (6.)

QuIT(BL_&eT 3,000 1,500
o aSa T 3,500 2,000
Qzmharene CFae|ser 1,000 1,000

Qewgern e Waé 5,000 <o@sdar  @.2,500 Lss550
sefssiiuLg. GQeuafllliphsdar Qeuwen o — 4,700 wHmd
Qewiperp 4 — 4,300 v @Gsdr. QFipaD SaMTEEGSET SWTilss.
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